Write an equation given two points
Recall, slope formula|m = Y2 - y1|and slope-point form

Xp = Xy Y-y = mX - Xq)

Write an equation that goes through:

ex 1) ((4 *_1 and (\8 ‘%'m slope-intercept form.
Step 1: Find m using 2 points

m=a-\ _ 1
=D 2
Step 2: Plug into point- slope form with m and 1 point
Y-1=2 (x+
Step 3: Simplify your equation infoy = mx + b form
y-1=Lx+2a y-a=zCx+2)
y=lx+asl J-3=5x+]
I=Lx+3 T YT 3X+3

ex 2) (2, 2) and (6, 8) in slope-intercept form.
xl 9% xz 92

m= B-R =%(X-ﬂ

6 -2 3—1=2x—3
m=_6

4 -1
Mm= 3 Eh 3‘

R

ex 3) ( 2) and (4, 7) infgeneral forry

7-97- Xy 9,

m= =37 Y=7=3 (%=

-4- (O <2 as

JTht 943 %i’ %}”
RYy-8b=9y%-34L
O=°|x—%3-\-ao




